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Given below are two statements :
Hrer Sr e few 7o € -
Statement 1 : In free version of Google meet

(through your personal Gmail/Google account)
vou can record your session/class.

wHaT () : [ HiE & W asd # (30
iR St ot UahTSS oh ZIT 3T 37T
o s &% 2l

Statement II : To join an online class/ session
conducted via Google Meet you meet you need
to login to your Google account.

HAF (1) : T[T Hie gRT GATfeAd Uah 3ere—
mmaﬁmaﬂﬁ%mmm\/

TATA UehTSE W TANT-39 i ahi ST6id dgdl g

In the light of the above statements, choose the
correct nswer from the options given
below: wAA o ATertes °, e faw o

faehcal § @ Tad IUYTh 3T Rl 99 SITAT, :
(a) Both Statement I and Statement Il are correct

FHA9 [ 37 11 21 981 2|

(b) Both Statement | and_ Statement II are
incorrect/ 9= 1 3R 11 &l Tad 2 |

(c) Statement [ 1s corrg:t but Statement Il 1s
incorrect/&4= 1 W&l &, <fehd H4= 11 TTeid @ 2

(d) Statement I 1s incorrect but Statement II 1
correct/HIF [ TTAAd &, oAfehd e 11 Tal 2 |




Given below are two statements :
FaSrwmaafauw € -

Statement I : In free version of Google meet
(through vour personal Gmail/Google account)
vou can record your session/class.

waa (1) : e Hie & W asd H (30
=fveiTa St ?er UehTSE o GRT 37TT 37T
o e &t 2

Statement II : To join an online class/ session
conducted via Google Meet you meet you need
to login to your Google account.

&I (1) : T Hie gRT Harferd Tah 3Tacg
HAT/AA TGS hid o 0 3TgaRt 3104
TATA TehTSE H ANT-3F i i JI6d TSl g

In the light of the above statements, choose the

correct answer from the options given
below: wHAT ok 3Teter H, Hrer fau o

farereal § ¥ WEW IUGTH ST T 99T ST

(a) Both Statement I and Statement 1l are correct
H9= 1 A 11 =1 T8 &)

(b) Both Statement | and_ Statement II are
incorrect/ &g 1 3R 11 a4 TaAd & |

(c) Statement I 1s corréct but Statement II 1s
incorrect/FH4 | Tl 8, dfehd 99 11 Tod 2|

(d) Statement | 1s incorrect but Statement Il 1s
correct/HIA | TTAd &, WfhT &a9 1 el 21

o) - P T @ T e S % 0 8
fo 1 W ¢ 98 fafiod e & SRRy am
& 2 8 e, aHfifaum, d o, e
o, f wi o, @ s AR

Jafed U § W €1 o e (b) 9 2




Match List I with List Il

List 1

List 11

(A) Proprietary LMS~

{1 MOODLE

(B) Open source LMS

A1l) Google classroom

(C) Cloud based LMS

#t11) Black board

(D) Data collection }V) Google form
and quiz

T=-1 o a1 G=-11 oAl (0T Shite, :

T=i-1 a=i-11
(A) UTHIET TrurRTd. | (1) TR diaas.
("H=e1)

(B) 2Ta= 9rg (11) TS FATH"T
TS uH .
(C) T3S I (111) =oTes |
(D) 22T GaheTT 31T (IV) 07T e

ferast

Choose the correct answer from_the options

fe=r T

given below :

HT ST ShiTAq -

(@) (A)-(1V), (B)-(111), (C)-(1), (D)~(1I)
(b) (A)-(1I1), (B)-(1V), (C)-(11I), (D)~(I)
(c) (A)-(I), (B)-(1I), (O)-(1V), (D)~(11I) £
(d) (A)-(I1I), (B)-(1), (O)-(1), (D)-(1V) \/

3348




Match List I with List II || [Ans. (@) : wiwfew fwn sEes somel (Proprietory
List I List 1 LMS)- 39 39 a1 wioes @b gfaur se ud
(A) Proprietary LMS (I) MOODLE HHYE Y& & 21 Blackboard fear, DLL, e-college
(B) Open source LMS | (II) Google classroom Edmodo, Engrade, Global Scholar) 38 Hﬁ'ﬁ D
(C) Cloud based LMS | (III) Black board ETARLU A
(D) Qata collection | (IV) Google form 3T 9rg Y yayug yumrelt’ (Open Source LMS)- 3@
a“gl{llz%;mu%ﬁ-uwfnama&ﬁrq- ;S G % TR § S 9 & YET %
= 2 E?ﬁ". forw aaman St @ 3§ 1% ff 39E X g 21 eTutor,
_ _ i, Cham-ib canvas efront, LAM-S. MOODLE 31fe 3799
(A) TURA TAwaTE. | () WAL | |5k v omom, 3 F T 3
e LHe) FARE d%€ UA.UH.UH. (Cloud based LMS)- T e
(B) KD AL S W &R o oar @ 39 a9 Odd # @ 3 e Ty
A O fFar ST 9&ar 21 IEH TEHE 3R I A & fou
(C) T3S =S () = = frdt fafre o a1 ORam wwifte = &
qﬁ@@ - FEYEA @ Al 7l Google Classroom, Grovo,
(D) 32T Hehera A (lV)erlf Halogen Software, Its learning, opened open learning
il etcméﬁmt{qmimmélm
Ch h rrect answer from th tions
S e R R e o] [ om0 ==t

T AT AT :

(a) (A)~(IV), (B)-(11I), (C)-(1), (D)-(1I)
(b) (A)-(11), (B)-(1V), (C)-(11I), (D)-(I)
() (A)-(D), (B)-(1I), (O)~(1V), (D)~(11I)

(d) (A)-(I11), (B)(D), (O)-(ID), (D)1V)



Which of the following are true case studies?

fafafiaga ¥ 9 &9 Uhur-3egaa & a o

T 82
(A) Easy to generalize the findings
YTieaal ahT |THT=ATeRT0T 3TTETT 8

(B) Normally Selects one case for analysis at a
time/ATATIGAT Ueh @0T W Ueh WehOT
=TT HIAT Bl -

(C) Highly quantitative in character
mﬁm [ 3o URUTTH areT|

(D) Integrates different perspectives
farfarsr uftgeat o6t dafea &yar g1

(E) Adopts the most consequent_approach to
the particular

IUANTH hi TR LT gl

Choose the correct answer from the options

given below :/ = fau nq
I I ST iU :
(a) (A), (B), (C) only/ &ad (A), (B), (C)

(b) (B). (C). (D) only/ &ad (B) (C D)\/
(c) (B). (D). (E) only/ %d (B), (D), (E) ) N

(d) (©), (D), (E) only/ e (C), (D), (F)




Which of the following are true case studies?
frafafga § & &9 gaur-31eaaa & an "y
T B2
(A) Easy to generalize the findings

gritaat T |TAT=eHI0T 3TTETT &

(B) Normally Selects one case for analysis at a
time/ATHTAAT Ush WA H Ueh Weh{UT T
=TT AT

(C) Highly quantitative in character
faﬁnm Iodl URUTH areT

(D) Integrates different perspectives
fafirsr afigea ont @afed &iar 8l

(E) Adopts the most consequent_approach to
the particular

IUNTH Rl 3T SHar

Choose the correct answer from the options
given below :/ Hrer feu 1w r o 5 wEr
3T T TT9 hitau :

(a) (A), (B), (C) only/ &&d (A), (B), (C)

(b) (B), (C), (D) only/ &ad (B), (C), (D)

(¢) (B), (D), (E) only/ &ad (B), (D), (E)

(d) (C), (D), (E) only/ &ad (C), (D), (E)

7

Ans. (‘c)-:%ﬁ -(Q’ﬁlf)-iﬂ"-‘?l.q:l @ﬂ:ﬁ? > ,‘ @ ?JIT AT H

/

TR A 21 98 &9 Wl § afth & Sfiaq 3R e
% oM gl Uge I _faveiNu] oeer o Ued 3N il
H TAY_& fau e S 21 9 ZE_ 6 gM 38Yd
fordt =afera fafa & aufa & 21 3erwr & fou faed
fth, U™, T34 A1 T & T8 AT | 9
wd ¥ Ged § 99 $94 o-
) I=IAAT U 999 § U Y601 &1 994 LT 2|
/(i) fererar # == uftomm arern

(iii) fafer aftiedi &1 dafaa & 2|




Match List I with List 11

List I List 11
Concept Discription
(A) Isomorphism (I) Use of both
qualitative and \'\
quantitative
methods
(B) Triangulation (11) Premise that the -
simplest method is /
most prefereable
(C) Principle of (II1) A property of a
Parsimony population
(D) Parameter (IV) Similarity of
structure
T=t-1 < 91T FA-11 R0 THATT shiltsyg :
T=-1 T=T-11
HahoaATr faavor
(A) SATSHRTaahRdT (I) ToTTcHh B
- gfiomaTedes  Srar

ggfaat ekt 9T
(B) === (I1) =Tee araa teh
-~ |aiad gogfer

agiferes a9 &

(C) FHAUTaT oht o< AT Rt 0T
(D) gr=tet IV) 93<4aT aht
W@_—

Choose the correct answer from_the options

given below:/ =r fo=r g faswmcar 7 O 3L
hT T Shilsd :

(a) (A)-(1), (B)-(11), (C)-(111), (D)-(1V)

(b) (A)-(1II), (B)-(1II), (C)-(IV), (D)~(I)

(c) (A)-(I1I), (B)-(1V), (C)-(I), (D)-(1T)

(d) (A)-(IV), (B)-(1), (C)-(11), (ID)-(11T)




In a classroom, transforming verbal and non-
§ § § ° /
verbal signs back nfo_messages s known as "=

T W W, (GaT) el A AT (A1-
qa) Hoell &1 S0 § A g ¢

o) Feedback/ 31D (Tea)

b) Encoding/ T (3ITE)

¢) Decoding faa (feafem)

) Reverse communication

vt (e )




na classroom, transformmg verbal and non-
verbal, signs back into_messages is known as

T W T () et A e (-

d

Reverse communication

gt v (e o)

e e § W G A wy

| Ans. (¢) : WIAU- T: Giead § A R &

S & Ak 4 & T ach afirn & ¢
am # i (voyy) st & ded & g
yfefsan YeM % 2

foratter werwwr: fagda @m0 S & Gwder g
Sforan @i 9 T & U G 3

Tehed: TR S @ YE @ ¢ 99 6
m,mmms@m@sﬁmwmm
g fopn e 2 o fedier s s fopn e 21
A F
(ol e 2 & & v dod Ao aromfeed dad

1 g Gey H w3 2




Perspective taking in communication supports

Hywur o uftgem wgwr frmfafaa & 9
WETIET Shidl &7 @
(A) Behavioural rigidity/ SagU{ch 37 dT /
"B Openness/ @A
\(¢) Sharing of information/ =T @l F@EI'&
) Trust/ fagara
(E) Secrecy/ Ta=raar

Choose the correct answer from the options
given below:/ ser fau 7w faweat # I

T ST chiTAU;
(a) (A), (B), and (C) only
(A), (B) 3R (C)
() (B), (C), and (D) only
Fad (B), (C) 3T (D)
(¢) (C), (D), and(E) only
&ad (C), (D) 3R (E)
(d) (A), (C), and (E) only
FAA (A), (C) HR (E)




Perspective taking in communication supports
Hywur # ufiyed wgur frefafad & 4@
WETAAT T &7

(A) Behavioural rigidity/ SaagU{ch 31T

(B) Openness/ @eTa—

(C) Sharing of information/ ¥=T @i F@'q’l'&
(D) Trust/ favara

(E) Secrecy/ Ta==rar

Choose the correct answer from the options
given below:/ ot fau wu fasweat o I

T AT hITAT:

(a) (A), (B), and (C) only
%ad (A), (B) 3R (C)

(b) (B), (C), and (D) only
&ad (B), (C) 31 (D)

(c) (C), (D), and(E) only
Fad (C), (D) 3R (E)

(d) (A), (C), and (E) only

FIT (A), (C) I (E)

Ans,(b) : 501 2 35 L 2 A,

ot 7 Fom T 4 £ 3
Y& 7 W g &l a8 e

[ 3

T,
TR0

‘ﬁ

TR Yo W €| o o (0) T 2




Given below are two statements: One is
labelled as Assertion (A) and the other is
labeled as Reason (R):/ A HAA feu @ T

U& ATRTAT (Assertion A) & &0 ¥ fafga ¢
at {(T{T?.'FI%? (Reasons R) HIU & B |

Assertion (A) : The positive feedback from the
teacher is necessary to_motivate students./

FATHAT (A): q HENTAS
uiffea wigas ) faenfidat @t afinfa &=
& fou arfard gt 81 -

Reasons (R): Continuous criticism of students
is the best method to make them realize

positive outcomes in their_ pursuit of
knowledge./&TUT (R): & AR

WATEL_3Th 7@l 301§ WHNEE
URUIT @t WEEE S Ei WAy far g

In the light of the above statements, choose the
answer from the options given below:

SUh & & et |, e 9w o faeweat

T o el 3 T 9 R

(a) Both (A) and (R) are true and (R) i1s the
correct explanation of (A)/(A) (R) GE)
&l & 3R (R), (A) 3 G& === 2

(b) Both (A) and (R) are true and (R) 1s NOT the
correct explanation of (A)/(A) 3R (R GE)
T g ofhd (R), (A) T AT 81 8

Kcy(A) is true but (R) is false
(A) T 2 Ifeh (R) 316F 21

(d) (A)is false\but (R) 1s true \

={(A) I 2 dfhd (R) T 21

/“

o




Given below are two statements: One is
labelled as Assertion (A) and the other is
labeled as Reason (R):/ <t 3t o few mu § -

Teh AWHIT (Assertion A) & ®Y ¥ forfiga ¢
a '{H'{TE'H% (Reasons R) &IUT & %Y §

Assertion (A) : The positive feedback from the

teacher is necessary to motivate students./
afTwaT (A): el ¥ HENTHS

uifwfea wigae ) feenfadat @t afifta &@
& foro arfamd gt &)
Reasons (R): Continuous criticism of students

is the best method to make them realize

positive outcomes in their_ pursuit of
knowledge./@RUT (R): feenffal &t @maw

WA Ik FH A T U THENAS
TRy T WG U aht waraw fafir g

In the light of the above statements, choose the
answer from the options given below:

Ans. (c) : Taqf® @1 3% g & forw. @@ e 21 O
# I WMQWWW
21 T 3 R e 9 I 3 @9 § e
T @ W W § S e e
e AV (A) T 2 3 A (R) 9 2
W.W(CG@EI




The sequence of the stage s of commumcatmn

process is:/ HYHUT YshaT H TR0 oh1 315N §:
(A) Level of acceptance \/

LIGEEL & T
(B) Transmission of cognitive data \/
T (RifiTed) aiidhgl T Heru

(€) Message rec egt
(D) Understandm | SEr 31'03'!12'@7[)/
(Ef Reaction/ Wierferan

Choose the correct answer from the options
given below/ﬁﬁqmﬁmﬁﬁ I

WWW:




The sequence of the stage s of commumcatlon

process is:/ HYHUT FTehaT W SXUT T ST §:
(A) Level of acceptance
PIRE R ke

(B) Transmlssmn of cogmtlve data

AT (RifATEa) ATehg! et Herur

(€) Message re (iig;
(D) Understandmg/ e (31'031@"@1)
(E) Reaction/ Wferferan

Choose the correct answer from the o tmns

given below:/ ﬁ;’Q ALY ferereat o |
T AT I

C),

” ——g -

Ans, (d): WW%WW@W'@:
(B) wﬁmam’rmaw
(C) Haw TgW ,
DEL! ,
A) TRV H R

(E) STeseen

aﬁﬁaﬂ mé|




-1 o |t i-11 &1 e siftag -

t@'ﬂwaa?;ﬂ; \/

@n\/

(A) 9each 99T

(l)aﬁuwﬁa—:am
TS

(B) §I9 Haw (HH
)

(11) a8 34T
( rTEEf=te) AT
gt wfaent (T
STIATIHERT ) oht faaior
&HTET B

(C) WErasti—as dWaw

(111) T=TT=ATI ST Tarer

( ufeeter sgfahoTT ) | (S=X feu—=—=
Reor=a)

(D) 1Y 99 @9 av) 3= ST
( 2ATAEE ATfeT—a)

Choose the correct answer from the options

given below:

Hrer foar o fawedt & O 9E SO @ 99T

HitaAq -

(1) (A)-(I1), (B)-(11I), (C)-(1V), (D)-(I)
(2) (A)-~(11D), (B)-(1V), (C)-(1), (D)-(1I)
(3) (A)-(1V), (B)-(I), (C)-(11), (D)-(11I)

(4) (A)-(I), (B)-(1II), (O)-(1 (P-(IV)
(a) 1 G.m.z::\—’

(c) 3

(d) 4




1.

Sagun purchased a smartphone at 9/10" of its
selling price and sold it at 8% more than its

selling price. Her gain is

T £¢m" mé WA W o 7 &
9/10d Wed W @iter qo 30 30a: ok wou
W 8Y% 3fEreh W S| I o §
(2) 10% (b) 12°
(c) 18% d) 20%

k \}sﬁ




- |
1. Sagun purchased a smartphone at 10" of it
selling prlce and sold it at 8% more than its

selling iprlce mgam [
T W fowa T

9/10&@%@3&113&39%&5&@
W 814 S o 3 0 ¢
(@) 10% (0) 12%
(©) 18% (d)20%

Ans, ((‘i)-:HFH WHWWE?WO”;’,
J
mﬁ?ﬁﬁmmmmwzlmx

amfm{w=(|00+81-?|08

A% = 1%- 90><100 -@/
90 y
=20%




If CHARCOAL is coded as 45164913, how will
you code COALCAR? \\

afe & W ¥ CHARCOAL @ 45164913
fer@n A, A COALCAR @t ferm wam feran
e

(1) 4913413 (b) 6194314

(c) 3194416 o 4913416/%/




If CHARCOAL is coded as 45164913, how will
you code COALCAR?

' / rr
afe e W ¥ CHARCOAL &t 45164913

forn 7y e yam foven
e’

(a) 4913413 (b) 6194314
(¢) 3194416 Q@ 913416 >

451
| TT*

Ans, (d) :
CHARCO AL

)-l“-*-

> D
)-—-

> o

|| ST 38l & . 1 T 7 W

-4P13416
Hence option (d) 1s correct answer




Study the data in the given table and answer the
questions that follow

The table below provides data on the percentage (%)
distribution of job vacancies in IT companies situated in
various Indian cities in the year 2009 and 2019. In the
year 2009, the total number of vacancies was 5.4 lakhs
and in the year 2019, it was 8.6 lakhs. o

g 2009 3R 2019 ¥ fafas wwda yed ° safea

a3 2t shufaat ® T i o faavor wfave =
attere rer Aol § yew forar & €1 ad 2009 ®, i
H Tl HEAT 5.4 wrEg ot 3T A 2019 H A 8.6 @
offI |t § &3 T3 3rfawsl o MUR U Wyl o 37
EUELE
ITET-ar T fifvs

City/9T8% Percentage (%) of
Job Vacancies

fifvs =t wfawra

} 2009 2019
Bangalore/ TR 15 22
Hyderabad/ ZaU&a 10 8
Pune/9U1 12 6
Mumbai/H=% 10 18
Chennai/@33 8 10
NCR/TA Hl AR 21 20
Other cities/37 TEI 24 16

| What is the differencb between the number of

vacancies available in the city of Bangalore in
the year 2019 and 2009? .
ST I W ¥ 2019 3 2009 W I

fiferat &t d & wem ofav fomaan £7
(a) 108200 (b) 113120
(¢) 118400 (d) 96400

L




Study the data in the given table and answer the What is the difference between the number of
RETaE A o vacancies available in the city of Bangalore in

The table below provides data on the percentage (%)
distribution of job vacancies in IT companies situated in the year 2019 and 2009?

various Indian cities in the year 2009 and 2019. In the m w -& a-& 2019 aﬂ-{ 2009 ﬁ KV G 53]

year 2009, the total number of vacancies was 5.4 lakhs ] )
nd in th r 2019, it was 8.6 lakhs. ; T

and inthe year 2019, { was 8 6 Lok, st 3 srafiare|  TTTRENT GO HEGHT & WeAT 3T feferr §7

mﬁgﬁﬁt ﬁﬁﬁwﬁ%ﬁ:ﬁt f:;r{ur wiawre & | (a) 108200 (b) 113120

3‘“3'3%. ARt ¥ g | 2009

= T oft 3w ad 2019 & ) (c) 118400 (d) 96400

oftI mrvft o fear W sfest & 3mar @@

m:

Ans. (a) : STAR YR | @ 2009 W 3yasy Rfamar &

ITE-ai it

L o ENIRE (CR) 03 FT & = x5,40,000= 81,000

ob Vacancies 100 e
/E?m ““2"‘:,';9' | || et # AW 2019 §  3uerd Rl @ den g
Q.@}ﬁalorei fllmltf, 15 7 22 » 22

r ‘ =—x8.60,000=1,89,200
T e KT
Mumbai/Fa% 10 I8 37 T 3R 8 = 1,89,200 - 81,200 =|LSO,200\
Chennai/d93 8 10
NCR/TA 41 3R 21 20
Other cities/37F Tl 24 16




Study the data in the given table and answer the
questions that follow

The table below provides data on the percentage (%)
distribution of job vacancies in IT companies situated in
various Indian cities in the year 2009 and 2019. In the
year 2009, the total number of vacancies was 5.4 lakhs
and in the year 2019, it was 8.6 lakhs. o

ad 2009 3 2019 ¥ fafts gt vedd § safeE

2. dufaat ¥ T it & faawor gftee &
ariehe e |ruft § yew ford & 1 ad 2009 o, it
S Tl GEAT 5.4 @@ ot 3R a9 2019 ¥ IE 8.6 @
off wwoft § fa& 73 affeel & M OT Wyl & 3%
EUELE
IET-ar TR it

City/918¥ Percentage (%) of
Job Vacancies

i =1 wfawE

2009 2019
Bangalore/ STl 15 22
Hyderabad/ 2aU&@@ 10 8
Pune/9U1 12 6
Mumbai/H% 10 18
Chennai/993 3 10
NCR/EA 9 3R 21 20
Other cities/3T & 24 16

What is the average number of vacancies
available in the city of Hyderabad in the year
2009 and 2019?

adg 2009 3T 2019 T FSUETS IET W IUGTET
it or 2iaa =T feeaT 82

(a) 41080 (bf 4f ffi
(c) 58610 (d) 61400

&
p




Study the data in the given table and answer the
questions that follow

The table below provides data on the percentage (%)
distribution of job vacancies in IT companies situated in
various Indian cities in the year 2009 and 2019. In the
year 2009, the total number of vacancies was 5.4 lakhs
and in the year 2019, it was 8.6 lakhs. o

ad 2009 3 2019 ¥ fafts gt vedd § safeE

2. dufaat ¥ T it & faawor gftee &
ariehe e |ruft § yew ford & 1 ad 2009 o, it
S Tl GEAT 5.4 @@ ot 3R a9 2019 ¥ IE 8.6 @
off wwoft § fa& 73 affeel & M OT Wyl & 3%
EUELE
IET-ar Uwe it

City/918¥ Percentage (%) of
Job Vacancies

i =1 wfawE

2009 2019
Bangalore/ STl 15 22
Hyderabad/ gaUara 10 8
Pune/9U1 12 6
Mumbai/H% 10 18
Chennai/993 3 10
NCR/EA 9 3R 21 20
Other cities/3T & 24 16

What is the average number of vacancies
available in the city of Hyderabad in the year
2009 and 2019?

adg 2009 3T 2019 T FSUETS IET W IUGTET

fifsrat &t 3fraa d=T faeadt 82
(a) 41080 (b) 42740
(c) 58610 (d) 61400

=

Ans. (d)/): 35TER WX § 2009 # Sycey Rfwa & g
= £x5,40,000= 54.000

100
gaqae IR W 2019 § 3Iuasw Rfwd & g@ =

B x8,60,000 = 68,800
100

s sfty sited & = 54,000;68,800

_ 122,800 ) 40




Study the data in the given table and answer the
questions that follow

The table below provides data on the percentage (%)
distribution of job vacancies in IT companies situated in
various Indian cities in the year 2009 and 2019. In the
year 2009, the total number of vacancies was 5.4 lakhs
and in the year 2019, it was 8.6 lakhs.

od 2009 3T 2019 # fafisr wrda vl § safeE
A2 whufaat § e it & faawor gfave &
Aiehe Hrer ARt § wew fomar & 81 3w 2009 ®, i
Wi HT WEAT 5.4 @@ ot 30 ad 2019 ¥ 4% 8.6 @
off1 |t & fa&r w2 atfewel & U O gyt & 390
EUELE
ITET-ar TR s

City/9T8¥ Percentage (%) of
Job Vacancies
i =1 wfawa
2009 2019
Bangalore/ SR 15 22
Hyderabad/ 23Uarg 10 8
Pune/9qU1 12 6
Mumbai/q&% 10 18
Chennai/@3a3 8 10
NCR/UA 4l 3R 21 20
Other cities/374 ¥@Y 24 16

What is the total number of vacancies available
in the city of Chennai in 2009 and in that of
Mumbai in the year 2019?

ad 2009 W oFE e U 0N dag u aw 2019 H

Iucted RfvRal &t ot dean fera-t g7

(a) 2.16 lakhs/2.16 =@
(b) 2.04 lakhs/2.04 <@ \
(c) 1.98 lakhs/1.98 «@
(d) 1.92 lakhs/1.92 @@

W




Study the data in the given table and answer the
questions that follow

The table below provides data on the percentage (%)
distribution of job vacancies in IT companies situated in
various Indian cities in the year 2009 and 2019. In the
year 2009, the total number of vacancies was 5.4 lakhs
and in the year 2019, it was 8.6 lakhs. .

ad 2009 30T 2019 # fafusr wwda v § safeE

A2 whufaat § e it & faawor gfave &
Aiehe Hrer ARt § wew fomar & 81 3w 2009 ®, i
Wi HT WEAT 5.4 @@ ot 30 ad 2019 ¥ 4% 8.6 @
off1 |t & fa&r w2 atfewel & U O gyt & 390
EURLE

What is the total number of vacancies available
in the city of Chennai in 2009 and in that of
Mumbai in the year 2019?

ad 2009 W oFE e U 0N dag u aw 2019 H
Iucted RfvRal &t ot dean fera-t g7

(a) 2.16 lakhs/2.16 =@

(b) 2.04 lakhs/2.04 <@

(c¢) 1.98 lakhs/1.98 @@

(d) 1.92 lakhs/1.92 ©@

oA s Ans. (c) \ %= 2009 % 3 g 2019 ¥ e Al =
e Lercentage OF) o 2009 # 3= § Iuere Rfwal + 2019 § g § Iqe@

fifvs =t wfawe fiferar
2009 2019 | . "

Bangalore/ SR 15 22

Hyderabad/ 23UE1g 10 8 - —x5,4(), 000+—X8, 60, 000

Pune/J01 12 6 | 100 100 /

Mumbai/Fa% 10 18 =43.200 + 1,54,800

Chennai/993 8 10 =198.000

NCR/UA ¥ 3R 21 20 T

Other cities/39 T8 24 16 =1.98 @@




Study the data in the given table and answer the
questions that follow

The table below provides data on the percentage (%)
distribution of job vacancies in IT companies situated in
various Indian cities in the year 2009 and 2019. In the
year 2009, the total number of vacancies was 5.4 lakhs
and in the year 2019, it was 8.6 lakhs. o

ad 2009 38 2019 ¥ fafus awdta v ° safew

g dt. Shufaat ° T it & faawor wfoee &
3Tiere e |arft # yew fovdr & €1 ad 2009 #, i
i Tl HEAT 5.4 wrg off 3T ad 2019 H 9% 8.6 @@
ofti |roft § fa&r w2 efesl & MUR 9T yvAt & I
CUELE
vET-ar TR s

City/9T8% Percentage (%) of
Job Vacancies

it =t wiaye

2009 2019
Bangalore/ AN 15 22
Hyderabad/ 2a3@rg 10 8
Pune/9UT 12 6
Mumbai/H=% 10 18
Chennai/d43 8 10
NCR/UA €1 3R 21 20
Other cities/3F T 24 16

If the number of vacancies in the city of Pune isl
48000 in the year 2019 and the percentage
distribution is the same as given in the table,
then what is the number of vacancies available
in NCR in 2019?

afe ad 2019 # gur & Rfvwal @t @@ 48000 &
i yfewrar femwor Srar anft o fear T g &
IR &, @ 99 2019 W U € 3 H Iuctes
fifmal st dee feat &7
(a) 1.2 lakhs/1.2 @@

(b) 1.32 lakhs/1.32 @@
(c) 1.48 lakhs/1.48 @

(d) 1.6 lakhs/1.6 <@




Study the data in the given table and answer the
questions that follow

The table below provides data on the percentage (%)
distribution of job vacancies in IT companies situated in
various Indian cities in the year 2009 and 2019. In the
year 2009, the total number of vacancies was 5.4 lakhs
and in the year 2019, it was 8.6 lakhs.

ad 2009 31T 2019 # fafirs T v # safEa
amg 2. Shufaat o domme fifs & faawor wfooe &
3Tiere e |arft # yew fovdr & €1 ad 2009 #, i
i Tl HEAT 5.4 wrg off 3T ad 2019 H 9% 8.6 @@
oft1 mroft & faar 2 affersl & MaR oT woAl & 3¢
EUELE
yET-ar e fifss

City/9T8% Percentage (%) of
Job Vacancies

it =t wiaye

2009 2019
Bangalore/ AN 15 22
Hyderabad/ 2a3@rg 10 8
Pune/9UI 12 6
Mumbai/H=% 10 18
Chennai/d43 8 10
NCR/UA €1 3R 21 20
Other cities/3F T 24 16

If the number of vacancies in the city of Pune isl
48000 in the year 2019 and the percentage
distribution is the same as given in the table,
then what is the number of vacancies available
in NCR in 2019?

afe ad 2019 W gor ° Rfvwar @t 93T 48000 8
i wfaera faavor Sar anoft § fear = & &6
3ITTE &, 9 99 2019 ¥ WA € AW W IucTer
et oat =T ferat 872

(a) 1.2 lakhs/1.2 <9I @

(b) 1.32 lakhs/1.32 <@

Ans((d) : FEAEER,
a¥ 2019 el H 3vaey Rfthar sfasEa § = 48,000

a1 6% = 48,000
1% = il 8.000
= 20% = 45000 20
= 1.60.000
=1.6 @G
d: a9 2019 § NCR # 3ua=y fifwai & g
= 1.6 @@

/




Study the data in the given table and answer the
questions that follow

The table below provides data on the percentage (%)
distribution of job vacancies in IT companies situated 1n
various Indian cities in the year 2009 and 2019. In the
year 2009, the total number of vacancies was 5.4 lakhs
and in the year 2019, it was 8.6 lakhs.

ad 2009 3 2019 ¥ fafus wwdT vl ¥ erafee

g F. dufval ¥ T fifvs & faawor wfeaoe &
atiehe e aroft & yew v & €1 a9 2009 ), i
i Tl WEAT 5.4 @ oft 37 ad 2019 W 9T 8.6 I
off wroft o fa& 73 atffersl & e oT uoAl & 39
EUELE
yET-an T fifvs

City/9TgY Percentage (%) of
Job Vacancies
fifvs =1 wfaea
2009 2019
Bangalore/ dTeilX 15 22
Hyderabad/ EETCIES 10 8
Pune/9qU1 12 6
Mumbai/qga% 10 18
Chennai/933 8 10
NCR/uA Hl 3R 21 20
Other cities/379 ¥I@T 24 16

What is the approximate percentage rise seen
in vacancies available in the city of Hyderabad
from 2009 to 2019?

ad 2009 ¥ 2019 H FTIEE IR W SUCTeT
Rfvrat & e feraw wfava & gig femd
G

(a) 21.8%
(c) 26.23%

(b) 23.23%
(d) 27.41%]

LK}

e Y

o




Study the data in the given table and answer the
questions that follow

The table below provides data on the percentage (%)
distribution of job vacancies in IT companies situated 1n
various Indian cities in the year 2009 and 2019. In the
year 2009, the total number of vacancies was 5.4 lakhs
and in the year 2019, it was 8.6 lakhs.

ad 2009 3T 2019 ¥ fafis arda vl # safea
g F. dufval ¥ T fifvs & faawor wfeaoe &
atiehe e aroft & yew v & €1 a9 2009 ), i
i Tl WEAT 5.4 @ oft 37 ad 2019 W 9T 8.6 I
off wroft o fa& 73 atffersl & e oT uoAl & 39
EUELE
yTET-ar e i

City/9TgY Percentage (%) of
Job Vacancies
fifvs =1 wfaea
2009 2019
Bangalore/ dTeilX 15 22
Hyderabad/ EETCIES 10 8
Pune/9qU1 12 6
Mumbai/qga% 10 18
Chennai/933 8 10
NCR/uA Hl 3R 21 20
Other cities/379 ¥I@T 24 16

What is the approximate percentage rise seen
in vacancies available in the city of Hyderabad
from 2009 to 2019?

ad 2009 ¥ 2019 H FTIEE IR W SUCTeT
Rfvrat & e feraw wfava & gig femd
G

(a) 21.8%
(c) 26.23%

(b) 23.23%
(d) 27.41%

Ans. (d) : @ 2009 ¥ 2eUee YR § 3Iqoe Rfewat &
10

= 100 x 54,0000 = 54000

00
af 2019 ¥ gEE WX § Iuesw i & e =
%x 8.60,000 = 68,800
evEre Wi § Syas Rl 3 den § gfg =
68,800 — 54,000 = 14,800 _ |
2eUaTE i § Iuas il Y g § afy sfiwe =
14,800
54,000

x 100 =27.41%




In which level of teaching, the activities otl'
structuring, guiding and closely supervising the \/\

students behaviour is predominate?
fram % fea ww @ dwen, Bl odw
forerffart & sraRR @1 fehe @ whagw L
& it @y ae 37 — 3
(a) Autonomous development level/&m@T faam™ J
LY L

(b) Reflective level/famsif &R >
(¢) Understanding level/37aaly TR
(

| (d) Memory level/Sfd & |
\ ' /




). In which level of teaching, the activities of Ans, (0) ﬁw % Eﬁ @ 1 T nics 3ﬂ'{

structuring, guiding and closely supervising the

students behaviour is predominate? o % Ela'ﬁ'ﬂ 7] e @ W@W m 31 ot
Mﬁu’t%mmﬁmﬁvﬁwm

PO E e g o & St 0 & g WS i ) % o
(a) Autonomous development level/&ra GEA axﬁmq qﬁm & 3 T §|

L
(b) Reflective level/famsii &

(¢) Understanding level Y TR
(d) Memory level/Sjfd &




Z\

A model of teaching is a description of

forarmn avt g &7 —

(a) Teacher behaviour including teacher and
student talk/fwse e ford e 9 am
Wi 21

(b) Learning environment including teaching /
behaviour/3form - tfaw frd fme -
o7 ft Wi 2

(c) Learner-behaviour including  personality

characteristics /bl aen fomd afed
% 0 W ¢

(d) Subject matter including its logical structure\/](
g o e A e i 41




Statement/shel¥ 1: Maximum performance tests
are designed to assess the upper limits of the
examinee's knowledge and abilities/3TH&HdH

fasarew gftegor gfienfdai & F9 FHIK @aqar & 94
GHT &1 3THad HH &+ TA99 9 daR fFu 9 )

Statement/&h&AF 2: Typical response tests are

designed to measure the behaviour and
characteristics of examinees/faf¥Tg 31gfhar srafa

gdtequr gfenfidai & =a@r 3T U H AT FA G
dar fra sia )

Choose the correct answer from the options
given below:

Hrer fau 7o faeseat & 9 @t 39 g

(a) Both Statement]l and Statement 2 a\ryérrecu
FA9 1 3R 2 T & 2|

(b) Both Statementl and Statement 2 are
incorrect/&FA= 1 31X 2 AT a1 Fd1 2 |

(c) Statement 1 1s correct but statement 2 1s
incorrect/&a= 1 T 2, fov<q F¥a-2 & &
21

(d) Statement 1 1s 1ncorrect but statement 2 1s

correct/&Ha= 1 T& AF 2, fod H¥=-2 Gdl 2




Statement/&hAT 1: Maximum performance tests
are designed to assess the upper limits of the
examinee's knowledge and abilities/3fehad
fasarea gdteror wdenfdai & w9 3R amar & Ul
T &1 3FHe FH F JA99 9 daR fFw od 21

Statement/&hAA 2: Typical response tests are

designed to measure the behaviour and
characteristics of examinees/faf3Te AT
afteror Tt % waER it Uit @ A 3
dar few srd €

Choose the correct answer from the options
given below:

Hrer fau 7o faeweut & 9 wE SW iU

(a) Both Statement]l and Statement 2 are correct/
FI9 1 3R 2 34 9 2

(b) Both Statementl and Statement
incorrect/&Y9 1 3 2 AT H&l 31 2|

(¢) Statement 1 1s correct but statement 2 1s
incorrect/&4= 1 H&l &, forg *Fga-2 & @i
2l

(d) Statement 1 i1s incorrect but statement 2 1is

correct/FIT 1 TE T 2, % FIT-2 TE 2|

2 are

| o A | e v @ s 3
W wlenfat & e AR g A S b
WETH F & A § R 5 T €1 a g
sFfn s ode el & R R T @
AT & 31 F a3

I
y
o=

——




"A university teacher plans to study the
performance of students in implementing specific
projects in terms of their creativity level"

Which method of research will be appropriate
to use in this context?

‘w2 fagfaemera e fenfdal & gaarars
T 35 s 7, Fotng pvae e e
I TSI T AT HA @ AT FAT
21" 7@ ded o frafofigs # @ @=-d wy
farfér suges Brit?

(a) Historical method/UfeRTfa faf

(b) Descriptive survey method/aviTea aefegor fafe
(c) Experimental method/SarTe fafy
(d) Ex post facto method/@af fafe




"A university teacher plans to study the
performance of students in implementing specific
projects in terms of their creativity level"

Which method of research will be appropriate
to use in this context?

i fagfereea e fenfial & gomTome
W & Hew W, fafyre lﬁ?ﬁ{ﬂ foratfaa & fl‘
T TSR & T O E A a
31" 7w ded § frefafed ¥ ¥ -0 Wy
faftr Sugrs g7

(a) Historical method/Ufeaifa fafty

(b) Descriptive survey method/avI e fafey

(c) Experimental method/S@rmera: fafy

(d) Ex post facto method/amaf fafy

Ans, () : 37 e v Wy v a
% g f & v & ot ot 31 e e
wed f amafor 3 9 21 38 WY & T W §
7 g & o frem 7 3 1 A A R
Wiy e o A ofaffa 2 o 2




Identify the characteristics of a good research
hypothesis from the following

mﬁﬁmmm%waﬂ
LELIEECI IS 1 g

\}/ Amenable to empirical verification/

s=aatas afierr ara

] Conceptual clarity in defining the
variables/=0 @ URWfq a4 #

AU HSh gl
3. Plausibility of relationships
postulated/wferaTfaa Harer a-."r HeATyTrEar
Accessibility in terms researchers
\/ resom%m%mﬁﬂgﬁ

S. Extent of its non—refutabilitylg'{ﬁ-ﬂ‘
3TehTSTAT i HET

Choose the correct answer from the options

glven below:

&qmﬁwﬁﬂﬁuﬁwaﬁ'&
(a) 2, o
(b) 1, 2and4on1y/%ﬁal 2 3fr{4
only

(d) 1 2and3only/%>aa| 2 3R 3




A research scholar while writing his /her thesis
uses ICT at wvarious stages of research
conducted. He/she justifies the conceptual
errors in interpreting results attributing the
same to the specific ICT devices. This will be
labelled as

ahrg ynemeff 3raaT virer weer o uea yner &
fafirer =ont & 2 o & @1 g war/ et
1 98 gftummt &t fadess & o STaurUT s
Ffear &t TE IgEr/SEEt § 3N 3@ fow
faftrge a3 #ft & g = e
HTHET/HTAT §1 SHShT Shgl STOIm:
(a) Technical incompetencelﬂﬁjﬁ JEIHAT \/
&

(b) Research design's inadequacy/3M¥ |
3TqFTear

(¢) Moral and ethical lapse/dfass 3R Hifa-fawas
T
(d) Human error/d9dg Jfe




A research scholar while writing his /her thesis
uses ICT at various stages of research
conducted. He/she justifies the conceptual
errors in interpreting results attributing the
same to the specific ICT devices. This will be
labelled as

s ymremeff sruaT vier yeiy for@d woa v &

fafirsr oot & amg ot &t @ wEnT war /Tt

21 9% gl &1 fdes & 0 STauRuTes

Feat wt T g/ eE § i 3weh fo

faftre g #ft & giwai @ Rer

ATAAT/WTAT 1 SHehT THgl STU:

(a) Technical incompetence/ﬂa?rﬂaﬁ FHeqHdT

(b) Research design's inadequacy/3m¥ fesiga it
S DI

(¢) Moral and ethical lapse/ﬁﬁﬁ AR Hifa-favas
T

(d) Human error/919did jﬁ'

Ans.(a):-ﬁﬁﬁﬁﬂmmwﬁmm%
3 & TR § T W ¢l % e @
7 U wEE A 2 3% vl aw my R
AT el & (o0 o @ & & wer
R0 1 W 3| 30 W T A e SOy




Statement/@heIT 1: Action research 1s cyclic in so
far as 1ts involves 'Plan-Act-Observer-Reflect’

cycle/fharers _siqgur =g &1 @ ifs_gad

ATSTAT-ThaT-9daequT-TaaRuT i osh IMA aidl 2 |

Statement/@heI¥ 2: The purpose of Action

research is to develop a theory to explain causal

relationship among variables/fSFards 31THEE &1

SIS 94 o S HRUTHS Gad HI ATAT FH aq

ww fagia fafd s a3 7o

Choose the correct answer from the options

given below:

Hrer fau 7o fasweat o 9 @& 39 g

(a) Both Statementl and Statement 2 are correct/
Ha9 1 3R 2 =1 & 2

(b) Both Statementl and Statement 2 are
incorrect/&9= 1 3K 2 a4 Tal A8l 2|

(c)y Statement | 1s correct but statement 2 is
incorrect/&®4- 1 & &, g $99-2 Tl F&i 4

(d) Statement | 1s incorrect but statement 2 is

correct/HaT 1 TE & T, ﬂﬁ FIT-2 Hal
e 2|

J
&,
[




Statement/&he9 1: Action research is cyclic in so
far as its involves 'Plan-Act-Observer-Reflect'
cycle/fFams 3HYE W@ AT @ HifE IHH
ArS1-fohar-udaeur-faemer &1 9% e 2 21
Statement/&heT4  2: The purpose of Action
research is to develop a theory to explain causal
relationship among variables/[ShaTeTeh 3TTHUM &
YA 9 & 9 FROTHS Hae & A FH 8q
s frgla faafm #w g gl A

Choose the correct answer from the options
given below:

Frar fow T feraed # & I SR

(a) Both Statementl and Statement 2 are correct/
F49 1 3R 2 21 G 2

(b) Both Statementl and Statement 2 are
incorrect/&H49 1 3R 2 I &t Tl 21

(c) Statement 1 1s correct but statement 2 1s
incorrect/F49 1 Tl 2, ﬁFg’ FI9-2 TE Tl 2|

(d) Statement 1 is incorrect but statement 2 is

correct/FIT 1 e & 2, fFg FuA-2 WA
e 2|

]

Ans (c): Wlﬂﬁéﬁﬁ@w-l

el T 21 foraree




Shifting technologies and  communication
Institutions contribute to

uftadi e i He A o
faTfafige & % 21 Wied 71 1 -

a@mmmgmmﬁe (E1ER
b) Temporal disintegration A4, fd%e

¢) Psychological dlsmtegrallon/mﬁm e
d) Spatial integration/ T T

’)\ﬁ/




(nnsuler the foll owmg three expressions

W foem &t
1. 3570.07 —
2. 25+0.0005 L
3. 136,09 +43.9

What is the correct descending order from the
simplified values of A, B and C?

A, B 3 C o TTelghd WA 89 WEI Sawgt s

Fe?

\42:»1:»3 (b) 3>1>2

(c) 3>2>] (d) 2>3>1




(nnsuler the following three expressions
améhnﬁanﬁi

l. 35 +0.07
2, 2.5+0.0005
J. 136,09 +43.9

What is the correct descending order from the
simplified values of A, B and C?

A, B 3 C o TTelghd WA 89 WEI Sawgt s
GOy

() 2>1>3 (b) 3>1>2

(c) 3>2>] (d) 2>3>1

Ans.(e{)’:A,BaﬁlCﬁlﬂﬂﬂ-mwﬂwqﬂ-
- i -~ ol @3 500
007 0.07x100 ]
2 § 25%10000 25000

=
00005 0.0005x10000 5
136, 09 136.09x100 13609
= — = -
4 9 B9x100 4390
37 G A = B> A>C

= 3000




Whlch of the following numbers are non-

2

_
1. 117 2.13
3. 19~ 4,21 —

5. 15 —>
Choose the correct answer from the options

given below:

Jrer feu T fawew ¥ @ WE ST @ wEd
CAELE

(2) 1and 5 only/&ad 1 3 5

(b) 2and30nly/aﬁ?'l 2 3R 3

(c) 3and 5 nnly/aa_clﬁ 3 #AR S
(d) 4 and 5 only/Fad 4 I s/




Which of the following numbers are non-
rime? _ _ o
Prffea # @ - u@m
& /

L 11 2(13)
3. 19 4.1

5. 15
Choose the correct answer from the options

given below:

dret fer MU fowew W @ WE I @ W
e |

(a) 1and 5 only/@ad | 3R

(b) 2and 3 only/aa'cl?l 2 3N 3

(c) 3and 5 onlylaﬂ?'l 3 3 S

(d) 4 and 5 only/Fad 4 3 5

Ans. (d) : AV ™ — 97 TEa%_9Td S|
4 g 2 a0 9% Faa & eEve & fF 1 AR @

T =E B 2, 39S 9 Fea 2l

T € &3d — | ¥ 921 98 YSas 9 S 39S
AT a1 2, 9ed WL IRl 21 3: @3 T3 el §
11,13 3 19 399 §=&4E 2 3R 21 3R 15 99

G 2|




Find the odd number in the following series

ffeigs %0 0 @ STa TEA it Al T

644, 328, 164, 84, 44, 24, 14
(a) 4 (b) 84
(c) 164 1) 08

IS PRER R

=




Kavita sold a mobile phone at the price of X
1950 and made a loss of 25%. At what price
will she have to sell it to get a profit of 30%?

Swfaar 3 25 wfawra &t g1 W 1950 F02 ¥ U
WEAEA WA awml 30% & o U7 30 Aiansd
&1 du g 30 feRait @iwa u¥ s gem?

(a) < 2600/- (b) X 2780/-
(c) < 300[]/- ‘ (d) X 3380!:




Kavita sold a mobile phone at the price of <

1950 and made a loss of 25%. At what price
will she have to sell it to get a profit of 30%?

e 3 25 VIowW @t {1 W 1950 7 0 0
WA B S=M1 30% & 79 W 30 Waw
B Ao 47 T Feel v T e g

(a) T 2600/- (b) T 2780
() ?3380/-‘

(c) ?300(}/-

Ans. (d\)r: T, WEEd B 3 WH@ Tx el

25% B & dR W B 1 o T o x- =

5 3x
= — —
100 4

X~ 71950
]

7, x=?1950><%
5 x=32600
30% @9 ST & & foIw 3o foed gl = x+

130

1 & 9 W@ W - :mﬂﬁﬂﬁ

=< 3380

25x

30x

100




Earth can be written as

afe HEART & SQPMZ & % ¥ foran s
t, @ EARTH &t form g foran 1 v 87
(a) QPMS? \ (b) OPMZS

(¢) QMPSZ (d) QMPZS

o If the word HEART is written as SQPMZ, then O
24




. I the word HEART s written as SQPMZ, then
Earth can be written as

e HEART & SOPMZ & %0 ¥ firgn 91
8, T EARTH i g firmn 1 e 87

WO (b) QNS
QML (@ QWS

n
@/Q/@

\\\\\\\\

Ans, (b) ﬁ"ﬂlﬁﬁ

TIsd e

HEART SQPMZ

74 3N 3¢ ¥ EARTH V= & 90l &7 F¢ T &
g f

E-Q

A-P

R- M \/

-7

H- S

3d: EARTH ﬁ OPMZS ferar 1 % 2




